HVZ fp2256te

HVZ {t ¢t

WERG ﬁ;ﬁ
=% - BEREMEHEREL,
HVU-TZ C 20/253IC 50/60
AERHE - BEREAN
- BATRMZAKERELE
7
HAS-TZ
HAS-R-TZ

HAS-HCR-TZ 247

. B
A4 |[HCR 4 ] c €
\ mil 316 highMo}AVAVD{ 198

BEL O KAK WX g SRRk KT fofE BUNKA CEfREi PROFIS

IAIE Anchor
IR
NIE / iEH
B AR / ERE H®S./ EREH
European technical approval a) DIBt, Berlin ETA-03/0032 / 2008-09-29

Approval for shockproof fastenings | Federal Office for Cicil Protection, BZS D 09-602 / 2009-10-28

in civil defence installations Bern

Fatigue loading DIBt, Berlin Z-21.3-1692 / 2012-03-07
Fire test report ZTV-Tunnel IBMB, Braunschweig UB 3357/0550-2 / 2001-06-26
Fire test report IBMB, Brunswick UB 3357/0550-1 / 2001-04-17
Assessment report (fire) warringtonfire WF 166402 / 2007-10-26

a) A= SR RIEETA-03/0032, % & F 2008-09-29.

BARENBIE (BREHE)

*ﬁnﬁﬁﬁ&ﬁﬁﬁﬁ? B@ESE IR
FHRRESEREIES)
- ki, [EEEEm
- A AR
- EMEBEEMRERR
- EEREMRERR
- BIR SRR RMRETR
- REBETEH C20/25,1,
- REEE I
(B/NEAHRE -40°C, A KE/IGHAE AR E: +50°C/80°C)
- RIFBESEE 0°C & +40°C

=25 N/mm?2

1/2013 211




HVZ {¢ 2241

BEARENBUBHEERENEMEE
EENWRFHE, RENFHEE, RENEHE, REHEFE

R~ M10x75 M12x95 M16x105 | M16x125 | M20x170
18257 & [mm] 75 95 105 125 170
EHEE [mm] 150 190 210 250 340

ﬁ(iﬁﬁ *&I‘E':Fygﬁ 2 iﬁ";}ii C 20/25 - fck,cube =25 N/mmzs 1‘t$iﬁ*§ HVZ
HIEXIEETA-03/0032, Z % F2008-09-29

e R~ M10x75 | Mi12x95 | M16x105 | M16x125 | M20x170
ERERRL

WERBAN, . HVZ [kN] 36,8 53,3 72,4 94,1 149,2
RAEE A Vy, HVZ [kN] 18,9 28,4 53,6 53,6 924
HEERET

FRAHA N, HVZ [kN] 31,2 44,4 51,6 67,1 106,4
REAHH V. HVZ [kN] 18,9 28,4 53,6 53,6 92,4

ﬁ;ﬁbﬁﬁE{E- ihEt‘.;%i:t C 20/25 - fck,cube =25 N/mmzl 1‘t$iﬁﬁ HvVZ
HIEKIEETA-03/0032, Z % F2008-09-29

iR M10x75 [ M12x95 | M16x105 | M16x125 M20x170
FRERRL

HRRHEA N, HVZ kNl | 32,8 40,0 54,3 70,6 111,9
AWEBA V.,  HVZ kN] 18,0 27,0 51,0 51,0 88,0
REER L

REABAN,  HVZ kN | 234 33,3 38,7 50,3 79,8
AEEBA V,,  HVZ [kN] 18,0 27,0 51,0 51,0 88,0

ﬁ(iﬁﬁi&i‘ﬂﬁl iﬁ:;ﬁi C 20/25 - fck,cube =25 N/mmzs 1t$‘%ﬁﬁ HvVZ
IR {KIEETA-03/0032, %% T2008-09-29

iRt M10x75 | M12x95 | M16x105 | M16x125 | M20x170
FRERRL

REASA Ny, HvVZ [kN] 21,9 26,7 36,2 47,1 74,6
AEEEN Va, HVZ kN] 14,4 21,6 40,8 40,8 70,4
REERREL

REAEA Ny, HVZ [kN] 15,6 22,2 258 335 53,2
REEHA Ve, HvVZ [kN] 14,4 21,6 40,8 40,8 70,4

ﬁ(ﬁﬁ #%{E a): itabiﬁi C 20/25 - fck,tuhe =25 N/mmzr ﬁ:-’%"—ﬁ& HvVZ
FIERIBETA-03/0032, Z A F2008-09-29

R~ M10x75 M12x95 M16x105 | M16x125 | M20x170
EREREL

&3 1 Nrec 15,6 19,0 25,9 33,6 53,3
BT E, S Vrec 10,3 15,4 29,1 29,1 50,3
BERET

Hihr&E /7 Nrec 11,1 15,9 18,4 24,0 38,0
JLBT &, 1 Vrec 10,3 15,4 29,1 29,1 50,3

a) BEDIZER =14, ITHREANI AR EREDTREERIE.

212 1/2013



HVZ {3448

IT{EREER
ENE HVZ (L2 RS HAS-TZEA T AT U TEREE. EMEREN LA TSBHERE N TR,
im BESEE EHiRE BRARUEMEE RAEHEMIRE
BESEE -40°C £ +80°C +50°C +80°C
RAIEHEMRE

EVHERTERREHNTHELE . NEBRERSE.

RARYEMEE

EM KR+ RAMRTHERERIRE.,

b 1573
HAS-TZH it e
B4R {XIEETA-03/0032, %% F2008-09-29
S Rt M10x75 | M12x95 | M16x105 | M16x125 | M20x170
B XAk HAS-(R) [N/mm?] 800
BB fuc (HCR)TZ
BB HAS-R) [N/mm?] 640
B (HCR)TZ
NAEER i [mm?] 44,2 63,6 113 113 227
A ] [mm?] 50,3 73,9 141 141 245
BEEIE HAS-(R) [mmd] 50,3 89,6 236 236 541
W (HCR)TZ
MR
R L1
HAS-TZ P
BEER 8.8
HAS-R-TZ W
1.4401 %1 1.4571
HAS-HCR-TZ SEIEAEN
1.4529 and 1.4547
#HiJLITR~T
R M10x75 M12x95 M16x105 M16x125 M20x170
HRIBERE [ [mm] 75 95 105 125 170

1/2013

213




HVZ {¢ 2241

=T

£

RETR
e R~ M10x75 M12x95 M16x105 M16x125 M20x170
B4 TE 2 - TE 16 / TE30/40 TE 50 - TE 70
Hh TR RETR

RKIE

FRRKERL, PHEXEI

RBRFIEIESEFRERAT
SRS T RARIEEFAEFEEARmE

HALATELHE
HIEMKIEETA-04/0084, % % F 2007-01-03
HEMaE T e RIFRE AR
BT E] towe
>20°C 20 44
10°CE20°C 30 44t
0°CZE10°C 60 44t

MEREREAFFRRREL. BERET, BEAMEEEL,

214

1/2013




HVZ fp2256te

RRAT

HE{XIEETA-03/0032, %% F2008-09-29
Rt M10x75 | M12x95 | M16x105 | M16x125 | M20x170
HAER do [mm] 12 14 18 18 25
BAER d [mm] 10 12 16 16 20
BB E et [mm] 75 95 105 125 170
HHFLRE h, [mm] 90 110 125 145 195
BINEMERE [ [mm] 150 190 210 250 340
HRFLE d [mm] 12 14 18 18 22
HegRRt
B/ Smin [mm] 50 60 70 70 80
F/NAEE Crin [mm] 50 60 70 70 80
FRERRL
B/\agE Smin [mm] 50 60 70 70 80
BINAEE Coin [mm] 50 70 85 85 80
B RBEIRIE 57 8] 3B Secrsp [mm] 2 Corp
B ZBEIRIE A EE Cersp [mm] 1,5 hy
SRR AR IR 57 18] BE 2 Cun
SR AR IR SN EE 1,5 hy
ZHEHIE ) 90 90 150

X FEIBE (1A8E) /N F i FREIRE (K FRABE)RI TR, RITRE S BT

a) h:EHEEh=zh,)

b) SERLBABIAIETABEBURTIEERE h, MMERE N, RIEFHELLARNTEERRT.
0 XEH/NEBEM/FER/NAETR TRENGARERE, ML REERBIE,

1/2013

215




HVZ {¢ 2241

LRt A&
fEI{LIRIT 7775 S ZETAG 001, ffii% C, &EH & ITHEMKIEETA-03/0032, ¥ % F2007-01-03.
n RETREYN
m AEEEG
m [EFER
n BEBENERNEE. (BITHZRhERTRN LERNREESZREN TR, ZmERLAE RS
FyEIAEE. AITEENRENRITERRZS, KILKIBETAG 001, IFRCIHTEHMNEMR. HERILER, B
TR A ##21% 11 FPROFIS anchor)

W TTERT TRk
» THEMFHERT 2R ERTR)
HIRNER BRI,

NFERATR, EEAREERITR G PROFIS Anchor,

Hii

RSN THERU TH&R/IME
- SRR E T Ngqs
- REFMBRR T EEASHITREI:
Nnd,p = NoRd,p . fB,p . fh,p
- ORBEEBABUIRE D Nage =N fo - fin-fon - fon - fon - fren
- ORBIBEREIOREN ((NEATEREREL):

Nrgsp = N%ac - fo - Frop - Focp - Faep - Frep - from

EXMARE N EHE
BRI HE Nias
HE{RIEETA-03/0032, %% F2008-09-29
R M10x75 M12x95 M16x105 | M16x125 | M20x170
Nrgs HAS-TZ [kN] 23,3 34,0 60,0 60,0 121,3
HAS-R-TZ
HAS-HCR-TZ

RHFRE T A A ST IRE 1 THENRg, = Norap - fap - fip
HEIRIEETA-03/0032, %% F-2008-09-29

e R~ M10x75 M12x95 | M16x105 | M16x125 | M20x170
B RE hy [mm] 75 95 105 125 170

FRERFEL

Nrp EEEE | N | 219 | 267 [ 82 | 411 | 748

AR

Ny BEEE | N | 156 | 222 | 258 | 335 | 532

216 1/2013



HVZ fp2256te

ﬁ&iiﬁﬁi&ﬂ‘ﬁ(ﬁﬂiﬁﬁ'ﬁ%w = NORd,c ° fB ° f1,N ° f2,N ° f3,N . fh,N : fre,N
%*%iﬁﬂiﬁtiﬁﬁiﬁﬁ'ﬁ 3 NRd,sp = NURd.c ° fB ° fh,N N f1,sp N fz,sp ° fa,sp : fre,N

HiE{kIBETA-03/0032, %% F2008-09-29
W R~ M10x75 M12x95 M16x105 M16x125 M20x170
N, JERERE LT [kN] 21,9 31,2 36,2 471 74,6
Npqe  BUEEREL [kN] 15,6 22,2 25,8 33,5 53,2
a) HAWKNNATIERERRL
A ]FSE
HRHFLR B A STINRE N RS L IRER IR
RRLEELE C20/25 | C25/30 | C 30/37 | C 35/45 | C 40/50 | C 45/55 | C 50/60
(ENV 206)
fap = | (Facoune/ 25N/mm2)0t 2 1 1,02 1,04 1,06 1,07 1,08 1,09
a) foowe = EEELHUERE, XM H150 mm iAKZTT&,
BHFRR T HEFASHRARB N IEERELMRE
‘ fh‘p = he(/hel,typ
BREIHEETRENRELBEDHRE
R TRESER C 20/25 | C 25/30 | C 30/37 | C 35/45 | C 40/50 | C 45/55 | C 50/60
(ENV 206)
fg = (fex.cune/25N/mm2) /2 2 1 1,1 1,22 1,34 1,41 1,48 1,55
a) fooue = EBELHUERE IR 4150 mm Kz 1K,
NBERIMRE a)
c/Cen o1 |02 | 03| 04| 05| 06 |07 | 08| 09 1
c/Corsp
fin =10,7+03. cle,y=<1 0,73 | 0,76 | 0,79 | 0,82 | 0,85 | 0,88 | 0,91 | 0,94 | 0,97 1
flep=1]0,7+03.clcysp=<1
fon = [0,5. (1+c/cg) =<1 0,55 | 0,60 | 0,65 | 0,70 | 0,75 | 0,80 | 0,85 | 0,90 | 0,95 | 1
fep =105 (1+c/c, ) <1
a) fERIAEEAR/NFREMETRE P IER H/NAEC, IR RS AE RGN NERIF M,
EESAES &
$/Sen o1 |02 |03 |04 |05 |06 |07 |08 (09 |1
S/
fon= |0,5. (1+5/5,,) <1 0,55 0,60 |0,65 |0,70 |0,75 |0,80 |0,85 [0,90 [0,95 |1
fasp= 10,5 (1 +8/s;,) <1

a) $HRREBEANNTFREM T RETATAENR/NGDEE S . FIWREPBAE ESNEEMNF,

RRIHEFHRFRENEBRERRRE

fh,N = (hef/hef,lyp)ts

1/2013

217




HVZ {¢ 2241

RARRIE R
h,, [mm] 40 50 60 70 80 % | =100
fo = 0,5+h_/200mm < 1 07% | 0759 | 082 | 085% | 099 | 0959 1

a) WRHRESRELPERENGS  MREE X RN EEE 2 150 mm (ERER) MWHER< 10 mm BIRE

[EBE = 100 mm,  MERZE fy =1,

sy

HMERS N HHERU THR/IME

- SRMEIORE

- RBTRERIARRN Ve, =k

Veas

(Npq, 0 Ng, EY/IME)

- RBLAGHIRREN Vege =Vao fo-fa Ty fy

EFRRERENRIHE
AT RE TR VHE Vi
BB {RIEETA-03/0032, % % F2008-09-29

Rt M10x75 M12x95 M16x105 M16x125 M20x170

Vegs  HAS-TZ [kN] 14,4 21,6 40,8 40,8 70,4

Vegs Eﬁg:ﬁgé-TZ [kN] 16,0 24,0 448 448 78,4

R T IREWIRIRE 1R IHE Veger = K Nagp 5 K - Ny FREI/ME?

k =1 for h,, < 60 mm
k =2 for h,; = 60 mm
a) Nggp: & HFUR S L #AEE S BEORE RITHE
Npg ot JEEE T AR RE NIEIHE
}Eiﬁiﬂﬁiﬁﬂiﬁ(iﬁﬁi&ﬁﬁ 3 de.c = voRd,c fs N fB ° fh ° f4
ERERELT RegRELT

Rt M10x75 | M12x95 | M16x105 | M16x125M20x170 || M10x75 | M12x95 |M16x105| M16x125|M20x170
Ve [kN] 37 | 67 | 99 | 103|110 27 | 38 | 53 | 55 | 7,9
a) XFEH, REEREELRERLLENHER.

HmER

BREEMTAY

B REER

(ENV 206) C 20/25 | C 25/30 | C 30/37 | C 35/45 | C 40/50 | C 45/55 | C 50/60
fo = (fyouws/25N/mm3)"2? 1 1,1 1,22 1,34 1,41 1,48 1,55

8) Ty ope= REELPURIRE, WA FFH150 mm KTk,

218

1/2013



HVZ fp2256te

FARAASEETERNARANRANBERE

%fa B 0 |10 | 200 | 30° | 40" | 50° | 60" | 70° | 80" |=90°
vV

I R 1 | 1,01|105]|1,13| 1,24 | 1,40 | 1,64 | 1,97 | 2,32 | 2,50

EMEREIRE

h/c 015 | 0,3 | 045 | 06 | 075 | 09 | 1,05 | 1,2 | 1,35 | 21,5

fo=  {(W/(1,5-c}% <1 0,22 | 0,34 | 0,45 | 0,54 | 0,63 | 0,71 | 0,79 | 0,86 | 0,93 | 1,00

RTINS 01 SR IENEE ) R R S,

f,=(c/h)”®-(1+s/[3-c])-05

BR AR s/h,

s 10,75 | 1,50 | 2,25 | 3,00 | 3,75 | 4,50 | 5,25 | 6,00 | 6,75 | 7,50 | 8,25 | 9,00 | 9,75 | 10,50 | 11,25
0,50 | 0,35 | 0,27| 0,35| 0,35| 0,35| 0,35| 0,35| 0,35| 0,35/ 0,35| 0,35| 0,35| 0,35| 0,35| 0,35| 0,35
0,75 | 0,65 | 0,43| 0,54| 0,65| 0,65| 0,65| 0,65| 0,65| 0,65 0,65 0,65/ 0,65| 0,65/ 0,65| 0,65| 0,65
1,00 | 1,00 | 0,63| 0,75| 0,88| 1,00/ 1,00| 1,00| 1,00| 1,00/ 1,00/ 1,00| 1,00| 1,00| 1,00| 1,00 1,00
1,25 | 1,40 | 0,84| 0,98| 1,12| 1,26| 1,40| 1,40| 1,40| 1,40| 1,40| 1,40| 1,40/ 1,40| 1,40| 1,40| 1,40
1,50 | 1,84 | 1,07| 1,22| 1,38| 1,53| 1,68| 1,84| 1,84| 1,84| 1,84| 1,84| 1,84| 1,84| 1,84| 1,84| 1,84
1,75 | 2,32 | 1,32| 1,49| 1,65| 1,82| 1,98| 2,15| 2,32| 2,32| 2,32| 2,32| 2,32| 2,32| 2,32| 2,32| 2,32
2,00 | 2,83 | 1,59| 1,77| 1,94| 2,12| 2,30| 2,47| 2,65| 2,83| 2,83| 2,83| 2,83| 2,83| 2,83| 2,83| 2,83
2,25 | 3,38 | 1,88| 2,06| 2,25| 2,44| 2,63| 2,81| 3,00| 3,19| 3,38 3,38| 3,38| 3,38| 3,38| 3,38| 3,38
2,50 | 3,95 | 2,17| 2,37| 2,57 2,77| 2,96| 3,16| 3,36| 3,56| 3,76| 3,95| 3,95| 3,95| 3,95| 3,95| 3,95
2,75 | 4,56 | 2,49| 2,69| 2,90| 3,11| 3,32| 3,52| 3,73| 3,94| 4,15| 4,35| 4,56| 4,56| 4,56| 4,56| 4,56
3,00 | 520 | 2,81| 3,03| 3,25| 3,46/ 3,68| 3,90| 4,11| 4,33| 4,55| 4,76| 4,98| 5,20| 5,20| 5,20| 5,20
3,25 | 5,86 | 3,15| 3,38| 3,61| 3,83| 4,06/ 4,28| 4,51| 4,73| 4,96| 5,18| 5,41| 5,63| 5,86| 5,86 5,86
3,50 | 6,55 | 3,51| 3,74| 3,98| 4,21| 4,44| 4,68| 4,91| 5,14| 538| 5,61| 5,85 6,08/ 6,31 6,55 6,55
3,75 | 7,26 | 3,87| 4,12| 4,36| 4,60 4,84 5,08 533| 557| 581| 6,05/ 6,29| 6,54| 6,78 7,02| 7,26
4,00 | 8,00 | 4,25 4,50| 4,75| 5,00| 5,25/ 5,50| 5,75| 6,00/ 6,25 6,50| 6,75/ 7,00| 7,25 7,50| 7,75
4,25 | 8,76 | 4,64| 4,90| 5,15 5,41| 5,67| 593| 6,18 6,44| 6,70| 6,96| 7,22| 7,47| 7,73| 7,99| 8,25
4,50 | 9,55 | 5,04| 530| 5,57| 5,83 6,10/ 6,36| 6,63 6,89| 7,16| 7,42| 7,69| 7,95 8,22| 8,49| 8,75
4,75 | 10,35 | 5,45| 5,72| 5,99| 6,27| 6,54| 6,81| 7,08/ 7,36 7,63| 7,90| 8,17| 8,45 8,72| 8,99| 9,26
5,00 | 11,18 | 5,87| 6,15 6,43| 6,71| 6,99| 7,27| 7,55 7,83| 8,11| 8,39| 8,66| 8,94| 9,22| 9,50| 9,78
5,25 | 12,03 | 6,30| 6,59| 6,87| 7,16 7,45 7,73| 8,02| 8,31 8,59| 8,88 9,17| 9,45| 9,74|10,02|10,31
5,50 | 12,90 | 6,74| 7,04| 7,33| 7,62| 7,92| 8,21| 8,50| 8,79| 9,09| 9,38| 9,67| 9,97 10,26/ 10,55|10,85

a) ieiE). HEERR/NT B/ NEES,, 8/ o

c/h,

'min ©

HEEEER
NTNHEEEER, SHEY "HwRRit .

1/2013 219



